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	May/2019 Braindump2go 200-155 Exam Dumps with PDF and VCE New Updated Today! Following are some new 200-155 Exam

Questions:1.|2019 Latest 200-155 Exam Dumps (PDF & VCE) Instant

Download:https://www.braindump2go.com/200-155.html2.|2019 Latest 200-155 Exam Questions & Answers Instant

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNSGNZNWlETXdSNHM?usp=sharingNew QuestionWhat is the

benefit of virtual contexts in ACE for server load balancing?A.    acts as several virtual appliances within a physical applianceB.   

compresses the data communication on ACE platformsC.    integrates ACE gear with ASA firewalls for extra securityD.    facilitates

data communication encryptionAnswer: ANew QuestionWhat link aggregation technology could be used when configuring

port-channels for connecting an access switch to vPC Domain?A.    Dot1qB.    LACP mode onC.    Port Aggregation Protocol

(PAgP)D.    LACP mode activeE.    Nonegotiate modeAnswer: DNew Question A SAN administrator recently added a new zone to

the VSAN 2 zoneset named zoneset2, but the server is still unable to access the shared storage. What configuration will resolve this

issue?A.    zoneset activate zoneset2B.    copy running-config startup-configC.    zone default-zone permit vsan 2D.    zone copy

active-zoneset full-zonesetAnswer: AExplanation:

http://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus5000/sw/configuration/guide/cli/CLIConfigurationGuide/zon
e.html?dtid=osscdc000283"If zoning is not activated, all devices are members of the default zone.""Changes to a zone set do not

take effect in a full zone set until you activate it."New Question A network design engineer is asked to design a SAN for a company.

Which three underlying principles of SAN design should be considered? (Choose three.)A.    scalability of LAN infrastructure;

reduced Ethernet QoS complexityB.    port density and topology requirements; number of ports required now and in the futureC.   

device performance and oversubscription ratios; determination of what is acceptable and what is unavoidableD.    fault isolation;

consolidation while maintaining isolationE.    security management; preferential network securityF.    future growth in WAN

infrastructureAnswer: BCDNew Question What data center networking technology is used to converge storage and IP networks

within a data center?A.    ATAB.    FCIPC.    iSCSID.    FCoEAnswer: DNew Question What native Fibre Channel technology

facilitates connecting multiple Fibre Channel devices behind a single FC address?A.    N-Port VirtualizationB.    N-Port

Identification VirtualizationC.    Fibre Channel Arbitrary LoopD.    Fiber Channel over EthernetAnswer: CNew Question Which

requirement is unique to service profile templates?A.    VLANB.    VSANC.    pooled identitiesD.    vNICE.    vHBAAnswer: C
New Question Which two options are two functions of the data center access layer? (Choose two.)A.    high data transfer rateB.   

packet filteringC.    server connectionsD.    QoS policy enforcementE.    high network fault toleranceF.    VLAN creationAnswer:
CFNew Question Refer to the exhibit. A customer has connected ports from a Cisco UCS 6296 using factory default settings, in this

way:- Ports 45-48 connected to an upstream Cisco MDS switch- Ports 16-19 connected to an upstream Cisco Nexus 5596 switch

Which two port modes should be used in Cisco UCS Manager? (Choose two.)A.    ports 45-48 as Fibre Channel uplink portsB.   

ports 16-19 as uplink portsC.    ports 45-48 as Fibre Channel storage portsD.    ports 16-19 as server portsE.    ports 45-48 as FCoE

portsAnswer: ABNew Question Refer to the exhibit. Which command on the Cisco Nexus 1000v returns the displayed results?A.   

show moduleB.    show svs neighborC.    show interface briefD.    show module vem mapE.    pingvem statusAnswer: ANew

Question Refer to the exhibit. A network engineer is migrating the existing switching infrastructure to a proposed model. Which

technology is enabled on the Cisco Nexus switches to support this migration to its future status?A.    PAgPB.    VSSC.    VPCD.   

FCoEAnswer: C!!!RECOMMEND!!!1.|2019 Latest 200-155 Exam Dumps (PDF & VCE) Instant

Download:https://www.braindump2go.com/200-155.html2.|2019 Latest 200-155 Study Guide Video Instant Download: YouTube

Video: YouTube.com/watch?v=4UufctDp1XU
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